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PART A: Grammar and Vocabulary
IDirections: Questions 61-70 are incomplete sentences. Beneath each sentence you will see four words or phrases marked (1), (2), (3) and
(4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on your answer sheet.

61- I didn’t have any money, but, luckily, my brother had ... .

1) a little 2) many 3)afew 4) a lot of
62- Justin, as an English professor, ... to the theatre many times this year.
1) goes 2) go 3) is going 4) has gone
63- Jane has not visited her relatives since she ... her hometown.
1) leave 2) am leaving 3) left 4) have left
64- I think those plants ... more if you give them some water regularly.
1) grows 2) grow 3) grown 4) will grow
65- Sadly, we made no progress under the ... of endless problems.
1) disease 2) weight 3) title 4) range
66- People never understand how important any moment of life is while their valuable life passesina ... .
1) lifestyle 2) firefighter 3) heartbeat 4) laughter
67- Despite employees’ busy schedules, they accepted my ... to join us for dinner.
1) attempt 2) invitation 3) discount 4) invention
68- The unfortunate bus accident in Tehran has caused a number of the passengers to ... serious
injuries.
1) hurt 2) receive 3) attack 4) cure
69- She was good at physics ... the fact that she found it boring.
1) despite 2) besides 3) instead of 4) without
70- No one remembers ... notice of her at the party. It’s like she wasn’t even there.
1) making 2) getting 3) doing 4) taking

IPART B: Cloze Test

[Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on|
your answer sheet.

A multilingual person is one who can communicate in more than one language, whether actively
(through speaking, writing) or passively (through listening, reading). The terms bilingual and
trilingual are used to ...(71)... situations in which two or three languages are involved.
Multilingual speakers have learned ...(72)... one language during childhood, the so-called first
language. The first language (sometimes ...(73)... referred to as the mother ...(74)...) is learned
without formal education. A further possibility is that a child may become naturally trilingual
by having a mother and father with separate languages being brought up in a third language
country. An example of this may be an English-speaking father married to a Chinese-speaking
mother with ...(75)... children living in France.
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71- 1) improve 2) describe 3) appear 4) imagine
72-1) suddenly 2) at least 3) rapidly 4) luckily
73-1) however 2) because 3) also 4) in pair
74- 1) point 2) tongue 3) future 4) belief
75-1) a little 2) little 3) a few 4) much

PART C: Reading Comprehension
IDirections: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct]
choice on your answer sheet.

Most people have heard the story of the lost island of Atlantis. But is any part of the story
true? The Greek writer, Plato wrote that Atlantis was an island in the Atlantic Ocean. The
island’s wealthy people designed many great buildings and canals. At the center of the island,
they built a beautiful golden temple. But the Atlanteans became greedy—they had everything,
but they still wanted more. The gods became angry, and the island was hit by earthquakes and
great waves. Finally, the whole of Atlantis sank into the sea.

Throughout history, explorers have reported finding Atlantis. In 2004, the explorer, Robert
Sarmast reported finding the island’s remains on an undersea mountain near Cyprus.
However, Sarmast and other scientists later found out these findings were natural, not man-
made.

Many people think that Atlantis is simply a story. The purpose of the story was to teach
people about the evils of greed. Richard Ellis published a book on Atlantis in 1999. He says
“there is not a piece of solid evidence” for a real Atlantis.

So was the island real or not? Only one thing is certain: the mystery of Atlantis will be with
us for a long time.

76- The best title for the passage could be ... .

1) Atlantis Sinks into the Sea 2) Atlantis: Real Place or Just a Story?
3) The Greed of the Atlanteans 4) 1 Found the Island of Atlantis.
77- Which sentence about the story of Atlanteans is NOT true?
1) They were wealthy. 2) They built many buildings.
3) They were greedy. 4) They became angry.
78- The word “great” in paragraph 1 can be replaced with ... .
1) very large 2) very good 3) very cold 4) very slow
79- What is the main idea of the third paragraph?
1) Atlantis sank near Cyprus. 2) No one has really found Atlantis.
3) The real Atlantis was found a long time ago. 4) Atlantis will be found under water.

80- Which of the following is closest in meaning to “there is not a piece of solid evidence” for a real
Atlantis?
1) There is only one reason to believe the Atlantis story is true.
2) The story of Atlantis is made up of many small pieces.
3) There is nothing to make us believe the Atlantis story is true.
4) The way to find out about Atlantis is by reading books.
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